EOR HAEHR - HERDOKRE- - HEROFIYKRE - REF - HETH 3 FH 3 F

. . [ 500 g LA ] 1. Okglh =] 1. BkgAsiii | 1. 5kglh ] 2. Okglh || 2. Bkg AT
iy T+ K 500g A< o - - - y
M i = A 1. kg | 1. skeeiis ] (mag) 2. okeAiiti ) 2. kel (FE4B)
= 11,618 8 44 63 115 165 982 1,262
R e 5 5, 881 2 25 33 60 84 420 564
5, 737 6 19 30 55 81 562 698
2 10, 586 7 37 57 101 158 909 1,168
O il L) 5, 347 2 23 31 56 82 384 522
5, 239 5 14 26 45 76 525 646
B 1,032 1 7 6 14 7 73 94
Pl il B 534 - 2 2 4 2 36 42
= 498 1 5 4 10 5 37 52
2 4,785 4 18 33 55 82 400 537
eV BT L) 2,395 - 8 17 25 40 165 230
v-q 2,390 4 10 16 30 42 235 307
=F 237 - - - - 6 24 30
iR | % 120 - - - - 2 6 8
+# 117 - - - - 4 18 22
[EE]| _ _ _ _
. Lz 120 2 6 8
FRAE T I 117 - - - - 4 18 22
EiR 463 - 1 1 2 6 47 55
St B R EEET 5B 235 - 1 1 2 3 22 27
voq 228 - - - - 3 25 28
B c -
o o [Ze== 77 52 - — — — _ 6 6
Bl +# 47 - - - - - 5 5
) 87 - - - - 1 7 8
XD
M & o & LS 101 - - - - 2 6 8
B nd 5 c
- ) 96 - 1 1 2 2 9 13
LM +# 80 - - - - 1 14 15
= 438 1 2 3 6 7 35 48
FHEERLRERT] B 222 1 1 1 3 5 19 27
+# 216 - 1 2 3 2 16 21
L Lz 153 1 1 3 3 14 20
HE LS 164 - - 2 2 2 14 18
5 61 - - - - 2 4 6
N w77
R % 50 - 1 - 1 - 2 3
— % 1 - - - - - - -
R I ) ~ . ~ . ~ . ~
i FH _ _ _ _ _
ot | ! . - . - . ! !
= 877 - 4 4 8 13 71 92
1 BRI B 443 - 3 2 5 6 32 43
+# 434 - 1 2 3 7 39 49
[EE]| _
cepe ] P 404 2 2 4 6 29 39
BEREJIT] 390 - - 2 2 6 33 41
[==] -
) 39 - 1 - 1 - 3 4
D
SR +# 44 - 1 - 1 1 6 8
= 544 - - 3 3 5 41 49
H K R EERT B 278 - - 2 2 3 21 26
+# 266 - - 1 1 2 20 23
[EE]| _ _ _ _ _
FA] A AR T I . ~ . ~ . ~ s s
L Lz 192 - - 2 2 2 15 19
kT L8 191 - - 1 1 2 14 17
[==] -
; ) 43 - - - - 1 1 2
R&IT +# 30 - - - - - 1 1

X TIIRRO N BIL, TREN R,
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. ] o e | 500 g LA E] 1. OkgPh B 1. 5kg=Rii | 1. 5kglh ] 2. 0kgPh k| 2. bkg Al
iy 1 b 500g s o o e - ;
' f % e | oo | 1 skeril Gy |2 kel skl i)
At 148 - - - - 1 13 14
Ketrtepr | % 7 - - - - 7 8
LS 71 - - - - - 6 6
. 5 77 - - - - 1 7 8
DT I 1 ~ . ~ B B 6 6
2 1,672 2 9 1 22 14 137 173
Iy BT Lz 855 1 8 6 15 9 48 72
voq 817 1 1 5 7 5 89 101
== < 5
R ) 510 1 3 3 7 3 28 38
B & 472 - 1 2 3 3 47 53
[EE] _
T 3 333 5 3 8 6 20 34
& R % 322 1 - 2 3 2 41 46
== 5
N 77 12 - - - _ _ _
1B /KHT e 23 _ _ 1 1 - 1
7t 403 = 2 = 2 5 35 42
AR SRR 5 203 = = = = 3 16 19
LS 200 = 2 = 2 2 19 23
[EE]| _ _ _ _
- 3 67 1 3 4
kAL s 88 - - - - - 8 8
B
e ) 94 - - - - 2 10 12
AT 86 - - 2 10 13
. 2 42 - - - - - 3 3
o 77
U] LS 26 - - 1 - 1 2
2 1,091 - 5 3 8 13 109 130
£ R PR A T B 555 - 4 1 5 5 45 55
voq 536 - 1 2 3 8 64 75
. 3 450 - 3 - 3 5 36 44
RET LS 419 - - 1 1 7 50 58
. 7 23 - - - - - 2 2
AT LS 28 - - - - - 5 5
B 19 - - 1 - 4 5
SRR LT LS 26 - - 1 - 2 3
B
GaIT 77 15 - - - - - _
ST % 14 B B B B B 1
. 2 15 - - 1 - 1 2
z i 77
R LS 18 - - 1 - 4 5
) 33 - - - - - 2 2
FEATET LS 31 - - - - 1 2 3
At 160 - - - - - 14 14
Pz RRERT 5 80 - - - - - 8 8
LS 80 - - - - - 6 6
. Lz 41 - - - - - 6 6
Wz LS 42 - - - - - 1 1
) ) 22 - - - - - 2 2
FR -] % 94 _ _ _ - - 3 3
. 5 17 - - - - - - -
TS W 77
e -] W iy ~ - - - - 5
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1. Okg it | 1. SkeAsiits 2. Okg AT | 2. 5kg ATt
EiR 71 - 1 1 2
B ERERT B 42 - 1 - 1
% 29 - - 1 1
% 42 - - 1
BT % 29 _ _ 1
3 445 2 9 5
4 WA ERT B 234 = 2 6 21
LS 211 = 3 14
. Lz 149 - 2 6 12
B LS 136 - 3 11
. % 5 - - - -
RFakS W 5 - ~ ) -
== S % 4 - - - -
Fhts 7 5 ~ ~ ~ ~
S % 32 - - - 3
WS ET = " ~ ) ) )
=5 % 27 - - - 2
HESRHRT 7 o8 B B ) |
= 5 17 - - - 4
7t 284 2 2 3 19
iz BiRERT B 142 = = 1 9
LS 142 2 2 2 10
. B 49 - - - 2
2B 35 - - - 5 5
5 22 - - 2 2
AT LS 26 - - 3 5
5 18 - - - 2 2
FHLmy W o1 ~ ~ - |
M B 14 — — _ 1 1
FIRAT L3 20 - 1 3
7 16 - - - 1
FIEA L B 30 _ - 1 2
n % 23 - - - 2 2
G5y = 0 ~ ) ) < <
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2. bkgll I

3. 0kglh |

3. bkgll

4. 0kglh

4. 5kgll I

i H] ) - o - o 15 0kell E] &~ & YA N
' f 3. Okg AT | 3. Skg Al | 4. Okg Al | 4. Skg At | 5. Okg Al & T Ridia
= 4,576 4,679 1,025 71 2 - 3 2,976
R by ) 2,107 2,521 642 45 1 - 1
s 2, 469 2,158 383 26 1 - 2
2 4, 169 4,253 933 58 2 - 3 2,974
(LIl % 1,914 2,291 582 36 1 - 1
s 2, 255 1,962 351 22 1 - 2
B 407 426 92 13 - - - 2,991
il B Lz 193 230 60 9 - - -
% 214 196 32 4 - - -
2 1,901 1, 896 422 27 - 1 2,966
eV BT L) 884 1,001 264 15 - - 1
v-q 1,017 895 158 12 - -
=F 100 100 7 - - - - 2,931
FE1E PRAdrT 5 47 61 4 = = - =
LS 53 39 3 - - - -
[EE]| _ _ _ _
. L 47 61 4 2,931
Rl # 53 39 3 - - - -
2 189 177 41 - - - 2,962
St B R EEET 5B 88 98 22 - - - -
LS 101 79 19 - - =
B c c
P % 20 19 7 - - - - 3, 005
bt +# 20 16 5 1 - - -
| = 36 35 8 - - - - 2,980
73D
M & o & LS 50 34 9 - - - -
B Qc c c
e % 32 44 7 - - - - 2,920
LN I a1 99 : ) ~ ) ~
= 164 170 53 3 - - - 2,999
FHEERLRERT] B 68 36 38 3 = - _
LS 96 84 15 - - - -
L & 43 60 27 - - - 2,997
A -7 )
R # 72 64 10 - - -
5 22 24 9 - - - - 3, 004
whxgAEH| 77 ’
S X BT % 04 18 5 B 3 B 3
— 5 - 1 - - - - - 3, 172
270 I B ) B ~ - ~ -
B > c c
. % 3 1 2 - - - - 2,941
+ &t 7 0 - ° - - - -
= 327 365 84 9 - - - 3, 007
1 BRI 3 153 187 52 8 = - =
LS 174 178 32 1 - - -
[EE]| _ _ _
T 136 175 47 7 3,013
B L) 1N TH I 158 161 30 B B B B
B c c
% 17 12 5 - - - 2,948
D
SORM +# 16 17 2 - - -
= 211 218 60 5 1 - - 3, 026
H K R EERT L) 93 119 35 4 1 - =
LS 118 99 25 1 - - -
[EE]| _ _
AR 5 13 16 6 2 3,071
BIAART | 19 14 6 1 - - -
L Lz 60 85 27 1 - - - 3,015
kT L3 85 71 18 - - - -
B c c - o
. 3 20 18 2 1 - - - 3,032
R +# 14 14 1 - - - -

_16_




. . 2. bkgll k| 3. 0kgll E 3. 5kglh F14. 0kgPh F | 4. bkglh | N .
] ) o o o o 5. Okgll E N IALIPYNEY
' f 3. Okg A | 3. kgAY | 4. Okg AT | 4. Skg AT | 5. Okg A li gkl + K
2t 65 56 12 - - - 2,955
KAtriEsr | % 29 35 5 - - -
% 36 21 7 - - -
. 35 29 35 5 - - - 2,955
Cha LS 36 21 7 - - -
2 627 708 152 2 - - 2,988
Iy BT Lz 294 386 96 7 = =
% 333 322 56 5 - -
== 5 -
e ) 182 230 56 4 - - 2,993
LA # 208 179 28 4 - -
[EE] _ _
e 5 106 152 39 2 2,979
& R % 119 130 26 1 - -
- .
- L) 6 4 1 1 - - 3,036
(/;7ka ﬁ‘ 6 13 9 _ B _
2t 171 159 31 - - - 2, 964
AR SRR 5 81 85 18 - - -
LS 90 74 13 - - -
e AT 7 30 27 6 - - - 2,994
) L3 36 38 6 - - -
H -
e ) 34 41 7 - - - 2,906
s +# 43 27 3 - - -
. i 17 17 5 - - - 3, 049
i - :
HRIH] LS 11 9 4 - - -
2 441 436 80 4 - - 2,957
£ R PR A T B 192 248 58 2 - -
LS 249 188 22 2 - -
- .
. ) 161 196 48 1 - - 2,966
RET LS 195 145 20 1 - -
. 7 6 14 1 - - - 2,929
A L8 12 11 - - - -
B < -
5 3 8 3 - - - 2, 856
SR RAT s 12 10 1 - - -
B < 5
o L) 3 10 2 - - - 3, 046
smyLHT % 7 5 ] _ B _
. 2 4 8 1 - - - 2,780
z i 77 )
RN W g - B ~ - ~
B -
) 15 12 3 1 - - 2,977
HFAFET = 15 12 ° ) B )
2t 61 67 16 2 - - 3,022
VaZ R ERfERT] 5 27 35 9 1 - -
LS 34 32 7 1 - -
| % 15 17 2 1 - - 3,029
s 16 19 5 1 - -
B c -
- 3 3 11 6 - - 3, 025
HhfE T I 3 7 ) ~ )
. 2 9 7 1 - - - 2,999
TS W 77 )
e -] W - 6 . ~ - ~
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. 2. 5kglh | 3. 0kgll 1 3. 5kglh F14. 0kglh | 4. 5kglh | N
; : : : : - 15. 0kgll | NIAL
R ! 3. Okg AT | 3. Ske At | 4. Oke A | 4. ke A | 5. Ok Adili gl TR E
2 26 36 4 1 - - 2,992
B ERERT B 14 24 2 = = =
LS 12 12 2 1 = =
% 14 24 2 - - - 2,992
AT L3 12 12 2 1 - -
2 185 172 36 3 - - 2,948
4 WA ERT B 85 94 24 2 - -
LS 100 78 12 1 - -
L | 58 59 12 - - - 2,917
el S 61 51 7 - -
: % 4 - 1 - - - 3, 007
KFAFT = 0 ) - - - ~
e % 2 2 - - - - 3,093
FARAT 7 5 “ ) ~ - B
e ) 11 10 6 - - 2,979
W= PN ET = I 9 . - -
g 5 4 17 4 - - - 3, 088
HEARAT % 13 11 3 - - -
= % 6 6 1 - - - 2, 884
R LS 11 6 - - - -
2t 108 119 27 4 - - 3, 005
iz BiRERT B 52 62 15 3 - -
LS 56 57 12 1 - -
[EE]|
P 5 18 25 4 - - - 3, 045
Rz R o 10 15 4 1 - -
H 7 9 3 1 - - 3,021
E =4 ,
AT LS 10 6 5 - - -
5 9 5 1 1 - - 2,920
FHLmy W 12 g - - - B
5 % 6 6 - - - 2, 880
Foya T W . 10 B B - )
5 5 7 3 - - - 3, 005
AT LS 14 11 3 - - -
B
on % 7 10 4 - - - 3, 108
55 = 5 7 B ) - 3
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